Bapiantr1 1)5 2)J1 3)B 4)B 5A 6) .. =€ ; Yo =0

7) { na (-1; 0), (0; 1); 1 Ha (-o0; -1), (1; +o0); x =—1 - Touka max; x =1 - TouKa min
8)2 9 y=T7x-19 10) F(x)=04vx’ +2-Inx|+2,6

Bapiantr2 1)A 2)B 3)Bb 4)B 5)] 6) Viax =0 5 Vo =—1/e

7) | Ha (-0; 0), (2; +0); 1 Ha (0; 2); x =2 - TOUKa Mmax

8) 63,5405 9) y=3-x 10) F(x)=—§-J(x+1)3 +-;-e2x+%

Bapiant3 1)B 2)b 3)5 4)]1 5) 1 6) . =0: .. =27/
7) | Ha (-00; -1), (1; +0); T Ha (-1; 1); x = —1 - Touka min

8)0,25 9) y=x-2 10) F(x)=tgx—-;-cos2x+1

Bapianur4 1)Bb 2)B 3)I" 4)A 5] 6) Vour =3 3 Vo =—1/e"

7) | na(-1;0), (0; 1); 1 Ha (-0; -1), (1; +0); x =—1 - Touka max; x =1 - TouKa min

8)0,5 9) y=6x-10 10) F(x)=—12—sin2x—%ctgx



